CHEM 130 Name
Quiz 4 — September 16, 2016

Complete the following problems. Write your final answers in the blanks provided. You must show
your work to receive full credit. Show numerical answers to the correct number of significant figures
with the correct units.

1. Determine the mass percent of oxygen in the mineral malachite, Cuy(OH),COs. (8 pts)

Molar mass of malachite is 221.116 g/mol, each mole of malachite contains 2 moles of copper, or
5x15.9994 g =79.997 g oxygen, so the mass % oxygen is:

79.997 g 0O x 100% = 36.18% O
221.116 g malachite

Answer 36.18 % O
2. Complete the table below. (8 pts.)
Name Formula Name Formula
, magnesium chloride .
ammonium carbonate (NH4).CO4 hexahydrate MgCl»+6H,0
barium hydroxide Ba(OH), dihydrogen monoxide H,O
chromium (VI) sulfide CrS; sulfur hexafluoride SFs
dinitrogen tetroxide N,O,4 cobalt (Ill) chromate Co,(CrOy);

3. Acetylene (C,H,) is often used in torches for metal cutting and welding. Consider the unbalanced
reaction for the combustion of acetylene below. How many grams of oxygen are required to
consume 15.30 grams of acetylene? (9 pts)

CHs, + O, - CO, + H,O

First balance the reaction:
CH; + 30, - 2C0O, + 2H,0

Now do the stoichiometry

g C2H4 — mol C2H4 — mol 02 —J 02

15.30 gCH, x 1 molC.H, x 3metO, x 31.999g0, = 5235479 0,
28.034 g—GgH-4 1 m@-l—GgH4 1 m-@-l—gg

Answer 52.35g9 O,



Possibly Useful Information

Na = 6.022 x 10

m/v

d=

g component
100 g sample

% by mass
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